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Overschrijding van de twintig

1. Boven de twintig:

R ot R I —
18 + 3 = 16 + 7 = 18 + 7 = 9 +7 =_
17 + 4 = 15 + 9 = 17 + 9 = 18 + 9 =_
9 + 6 = 17 + 5 = 16 + 8 = 16 + 6 = __
18 + 5 = 19 + 8 = 5 + 6 = 17 + 8 =
16 + 9 = 18 + 9 = 19 + 9 = 15 + 9 =

2. Onder de twintig:

%@ 23 -5 = N

22 - 3 = 28 - 9 = 21 - 6 = 21 - 3 =
21 - 4 = 27 - 8 = 24 -7 = 24 - 8 =
24 - 6 = 26 - 9 = 23 - 4 = 22 -7 = __
23 - 8 = 24 - 8 = 22 - 5 = 25 - 9 =
25 -7 = __ 22 - 4 = 25 - 6 = 23 - 6 =
3. Voor elke goed opgeloste som krijg je één punt:

23 - 8 = 16 + 8 = 24 - 6 = 7 + 5 =
8 + 7 = 17 + 7 = 18 + 5 = 26 - 9 = _
19 + 5 = 22 - 8 = 23 - 9 = 18 + 4 =
22 - 6 = 21 - 2 = 21 - 5 = 15 + 8 =
24 - 8 = 18 + 3 =

21 - 3 = 19 + 9 =_

15 + 7 =_ 27 - 8 =

17 + 4 = 23 - 5 =

22 -5 = 16 + b = EE—
17 + 6 = 5+ 9 = punten behaald!
23 - 4 = 24 - 5 =
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